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Group A † !Óû˛yà Ü˛

Answer any three questions 355=15

1. What do you mean by kinesiogy and sport biomechanics ?
What are the various terminologies of fundamentsl humal
movement ? Define equilibrium, balance and stability ?

(4+6+3=15)

Ü˛y•zˆÏö!§Ä°!ç Ä e´#í˛¸y ç#ÓÓ°!Óòƒy Ó°ˆÏï˛ !Ü˛ ˆÓyé˛⁄ üyö%ˆÏ£ÏÓ˚

ˆüÔ!°Ü˛ §M˛Èy°ˆÏöÓ˚ ˛õ!Ó˚û˛y£Ïy=!° !Ü˛ !Ü˛⁄ §%!fli!ï˛ñ û˛yÓ˚§yüƒ ~ÓÇ

fliy!Î˚ˆÏcÓ˚ §ÇK˛y òyÄ– 4+8+3=15

2. What is muscle contraction ? Briefly discuss about the various
types of muscles contraction ? Write down the name of
muscles and possible movements of shoulder joint.

(2+6+7=15)

ˆ˛õ¢# §ÇˆÏÜ˛yã˛ö !Ü˛⁄ !Ó!û˛ß¨ ≤ÃÜ˛yˆÏÓ˚Ó˚ ˛ˆ˛õ¢# §ÇˆÏÜ˛yã˛ö §¡õˆÏÜ≈˛
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§M˛Èy°ö=!° ˆ°á– 2+6+7=15
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3. What is lever and body lever ? Explain the various types of
lever with suitable examples from mechanical objects and
human body ? What do you mean by mechanical advantages
of lever ? (4+6+5=15)

û˛yÓ˚ò[˛ Ä ˜ò!•Ü˛ û˛yÓ˚ò[˛ !Ü˛⁄ í˛zòy•Ó˚î§• í˛z˛õÎ%_´ Îy!sfÜ˛ ~ÓÇ
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Ó°ˆÏï˛ ï%˛!ü ˆÜ˛ ˆÓyé˛⁄ 4+6+5=15

4. What do you mean by kinetics and kinematics ? What is
velocity and acceleration ? What is momentum ? Describe
the factors of stability. 4+4+2+5=15

Ü˛y•zˆÏö!ê˛Ü˛§ Ä Ü˛y•zöyˆÏü!ê˛Ü˛ Ó°ˆÏï˛ ï%˛!ü ˆÜ˛ ˆÓyé˛⁄ ˆÓà Ä cÓ˚î

!Ü˛⁄ û˛Ó˚ˆÏÓà !Ü˛⁄ fliy!Î˚ˆÏcÓ˚ ≤Ãû˛yÓ=!° Óî≈öy Ü˛Ó˚–4+4+2+5=15

5. Define motion. Classify motion with suitable examples from
sports. Write down the equations of motions 2+9+4=15

à!ï˛Ó˚ §ÇK˛y òyÄ– í˛z˛õÎ%_´ í˛zòy•Ó˚î§•ˆÏÎyˆÏà à!ï˛Ó˚ ˆ◊î#!Óû˛yà Ü˛Ó˚–

à!ï˛Ó˚ §ü#Ü˛Ó˚î=!° ˆ°á– 2+9+4=15

Group B † !Óû˛yà ÈÙÈ á

Write short notes (any two) 7.552=15

a) Angular Acceleration

b) Posture

c) Projectile Motion

d) Types and principle of Application of Force
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10. Examples of general motion is/are

a) Walking b) Running

c) Cycling d) All of these

11. For covering 300 m distance an athlete takes 1 minute and
23 second, then what was the speed of that athlete ?

a) 3.614m/m b) 3.614m/h

c) 3.614m/s d) None of these

12. Couple is rotation with

a) Same force b) parallel  force

c) Opposite force d) All of these



4. Diarthrosis is

a) Freely movable joint b) Slightly movable joint

c) Immovable joint d) Synovial joint

5. Sagittal axis lies perpendicular to the

a) Frontal plane b) Transverse Plane

c) Sagittal plane d) None of the above

6. Approach run is taken in jumping activities to increase

a) Momentum b) Torque

c) Friction d) Speed

7. The unit of force is /are

a) Dyne b) Newton

c) Both A and B d) None of these

8. In performing sport activities most of the levers are

a) 1stclass lever b) 2ndclass lever

c) 3rdclass lever d) None of these

9. Speed is a :

a) Scalar quantity b) Vector Quantity

c) Both d) None
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ˆÎˆÏÜ˛yö ò%!ê˛Ó˚ í˛z˛õÓ˚ §Ç!«˛Æ ê˛#Ü˛y ˆ°á É 7.552=15

Ü˛V ˆÜ˛Ô!îÜ˛ cÓ˚î
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âV ÓˆÏ°Ó˚ ≤ÃÜ˛yÓ˚ˆÏû˛ò ~ÓÇ ≤ÃˆÏÎ˚yˆÏàÓ˚ ö#!ï˛

Group  C

Answer any ten Questions (put a tick against your answer) :
1510=10

1. Mechanics is the branch of

a) Mathematics b) Biology

c) Anthropometry d) Physics

2. Sartorius muscle is situated in :

a) Thigh b) Arms

c) Lower leg d) Abdomen

3. The golden rules of machanics is

a) Law of action and reaction

b) Law of conservation of energy

c) Force in the cause of motion

d) None of the above
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